Right Triangles & Pythagorean Theorem

1. Solve for the unknown hypotenuse lengths.
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2. Find the unknown side lengths. Round to one decimal place.  If you get a side that is longer than the hypotenuse re-work your solution.
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3. Find the missing side lengths on the following Right Triangles.


a) 





b) 

4. If the measurements on the following triangle are correct, is it a Right Triangle?  Prove with numbers and words.


5. Find the error in Mr. Smith’s solution to finding the side length below.  


a) What he should have done to fix it. (what did he do wrong?)

b) Why he should have noticed it was wrong when he wrote his final solution at the end?
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a2 + b2 = c2


a2 = c2 – b2


d2 = (10)2 – (9)2


d2 = 100 – 81


d2 = 19


d = � EMBED Equation.COEE2  ���


d = 4.4		� EMBED Equation.COEE2  ���d is 4.4 inches
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